- -1 -
g 5 [ o b
= g :
S A O M —
5 ° |
lo_l: ---------- E"‘-n- ----------------------------------
102 L.
o 1 0731 o 1074
T S
14 14
0.5 0.5
-1 2 3 -1
10 1 TPlé)T (PCA t%obeamlinélf) 10
—=— DQM_mkFit_TTbhase
—— DQM_mkFit_TT_retrainOldFiles125
-~ = 1
= IS :
2 e
2 -
> . o
35 Lol 0, R )
107}
i) T B . k=] 1073 '
I : : I :
i : : - ;
¥ 5 oo
-1 2 3 -1 2 3
10 1 TPlp?T (PCA t%obeamliné'p 10 1 TPlp?T (PCA tjbobeamliné'f)
~ 1
2
—
o
o
5
1074
2 1l o ST
< :
o :
0.5
10 1 10 N - 10°
TP, (PCA t%) beamllne)O



	Contents
	Page 1


